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Part - |
Choose the corvect answ er:- 10 % 1= 4
1. Two points A and BB are maintained at potential of 7V and -4V
respectively. The work done in moving 50 clectrons from A to BB
1) 8.80x10™") b) -8 80x10™7)  ¢)4.40x107T d) 3.80x10717)

Twe identical conducting balls having positive charges ¢y and g are

2.
separated by a center to center distance r. 17 they are made to touch
cach other and then separated to the same distance. the force betwween
them will be :
a) less than belore  b) same as before  ¢) more than before dy zevo
3. An clectric dipole is placed at an alignment angle of 30" wiih an
clectric ficld of 2x105Nc™, If experiences a torque equal 1o 8Nm. The
charge on the dipole il the dipole length is Tem is
a) 4 mC b) 8mC ¢) SmC d) 7mC
4. Which charge conlicuration produces a uniform eleetric Gield?
a) pomt charge b) inlintte uniform line charge

¢) uniformly charged infinite plane
d) uniformly charged spherical shell

5. Three capacitors are connected in triangle as shown in the g, The
equivalent capacitance ,lw.cllwc.cn the points A and C is

"N NV
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o nF
0 k\f 2 \A
(-
a) Tul N b) 2ul ¢) Jul d) _'1 TRy
6. A toaster operating at 240V has a resistance of 120€. The power is
a) 400W b) 2W ¢) 480W d) 240W

7. 1n Joule™s heatine law. when 1 and t are constant. if the T is taken along
the v axis and 17 along the x axis. the graph 1s

a) straight line b) parabola  ¢) circle dy ellipse
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he tntemal tesistance of a 2.1V cell which gnves aoument of 0.2 A
H”“U?'h dreststance of 104 is
a)y 0.2 Q ) 0.5 ) o)y 0.8 L2 H Lo

-l

4 ' .
) What is the current out ol the battery”

\Ha \H- \Yn-

a) 1A bh) 2A ¢) 3A dy - \
10, What is the value of resistance of the following resistor? o
a) 100K Q b) 10k €2 ¢) 1k &2 d) TOU0K 82
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Part- 11
Answer any lour questions (Q.No.17 Compulsory ):-
| 1. Define capacitance. Give its unit.
12, Deline electrie dipole.
I3, Define electrie fTux.
1. The electric ficld lines never intersect. Justiy.
15, State KirchholT™s current rule.
16. What do you mean by internal resistance ot a cell”
1711 the resistance of coil is 3 Q at 20°C and ¢=0.004 ¢ the

-
o

determine its resistance at 100 .

Part — 111
Answer any four qucxtmm (Q.No.24 Compulsory):- $x3=12
18. Derive the L\p:usmn for resultant capacitance. when capacttors

are connected i series.
(0. Obtain the expression for capacitance tor a paralicl plate capacitor
0. Derive an expre ssion Tor electrostatic potential due 1o o L point charee

1 Discuss e basic properties of electrie charges.
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(alculate the cquivalent resistance in the following circut and also

=

" find the current L1 and 1 in the given cireutt.
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Part — 11
spswer all the questions:- ' 4x53=20
73, a) Calculate the electric field due to a dipole on its axial fine.

(or)
by Describe the microscopic model of current and obtain general form
of Ohm’s law.
26, 1) Obtain the expression for clectrie hicid due to an infinitely long
charged wire.
{on
by Fxplain the deternination of the internal resistance of a cell using
voltmeter.
17. a) Lxplain in detail the construction and working ol a Van de Gralt
(sencrator.
{or)
by Obtain the condition for bridge balance in Wheatstone's bridge.
28. a) Derive an expression for clectrostatic potential due to an cleetric
dipole.
{or}
by Explain the Jetermination of unknown resistance using meter

bridge.
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